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Question 1
Question Type: MultipleChoice

What feature of the Catalyst 2960-L allows customers to get a small branch or office network running within minutes?

Options: 
A- support for Cisco DNA center

B- on-box web interface for configuration

C- flexible deployments with Stackwise-160

D- complete CLI support

Answer: 
B

Question 2
Question Type: MultipleChoice



What is one of the key drivers of growing security threats in the market?

Options: 
A- comprehensive security solutions

B- security solution fragmentation

C- increased demand for cybersecurity professionals

D- hardware with integrated security solution

Answer: 
B

Question 3
Question Type: MultipleChoice

What is one of the key drivers of growing security threats in the market?



Options: 
A- comprehensive security solutions

B- security solution fragmentation

C- increased demand for cybersecurity professionals

D- hardware with integrated security solution

Answer: 
B

Question 4
Question Type: MultipleChoice

What is one charlatanistic differentiating the Meraki Dashboard from competing network management interfaces?

Options: 
A- comprehensive aggregator of multi-vendor networks



B- instantaneous access to virtualized applications

C- built-in live chat for on-demand troubleshooting support

D- centralized single pane of glass for access and management

Answer: 
D

Question 5
Question Type: MultipleChoice

What Cisco AirOS-based controller would you recommend to a customer who needs a physical controller tor a network up to 150 APIs?

Options: 
A- Mobility Express

B- Cisco 8540

C- Cisco 3504

D- Cisco WLC



Answer: 
C

Question 6
Question Type: MultipleChoice

What is the next largest operating expense for a typical corporation after employee salaries?

Options: 
A- information technology and technology purchases

B- network administration costs

C- corporate real estate costs

D- software licensing costs

Answer: 
A



Question 7
Question Type: MultipleChoice

Which statement is true regarding Next Generation Firewall (NGFW)?

Options: 
A- blocking malicious destinations before a connection is ever established

B- facilitating critical protection from constant, dynamic, and rapidly evolving web threats

C- reducing fragmentation by integrating with other Cisco security and network solutions integrating deep visibility, preeminent

D- intelligence, and superior protection

Answer: 
B
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